a SMEER

Zag> ()

—. FAINEER
Q:2:@: Q- Q- Q:Q2:-Q: Q- Q- Q:
Q:Q: Q- A: A

—. B

7N

i

m (1) NayCO3 + COs + HyO = 2NaHCO3
A
(2) 2NaHCO3 = Nay;CO3 + H, O 4+ CO; 1

(3) HCO; +H' =H,0+ CO; t
(4) AlO; +20H™ = AlO; + H,0

(5) 2Fe*" + Cl, = 2Fe*t + 201
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(2) Na [OO] ‘Na ; 2NagOg + 2C03 = 2NayCO3 + O2 1; Nag Oy ; NagOs ; 0.1Ny
(3) Fe’™ +20H = Fe(OH), |
(4) 1. BEFENRNFTFAES |, i8I0 KSCN A& , &aRE4L , WiRASE Feit

2 .Fe*" + 3SCN~ = Fe(SCN);
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2 . MnO, + 4H* + 2C1~ = Mn?** + Cl, 1 +2H,0

(3) 1.ClL FAREAEDBIVKES
2. % A 7 B 21— AR HySO4 MO
(4) 2Fe 4 Cly = 2P + 201
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(5) BRTIE

@ (1) OH™ + H* =H,0
(2) 1.0.07
2 . 460
(3) 400

(4) 0.06<a<0.1
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